Simulation EDO-MS2-AP1-LS1-TC5-TS3

m
g Access point sending rate (all flows, measured at MAC layer)
=
5 100 A
Q
S
8 0 T T T T T T
£ 0 5 10 15 20 25 30
|_
- Cubic throughput at receiver
R
S 2 20
QO
e A NN ANV
|'E 04 T T T oV T T
0 5 10 15 20 25 30
Cubic unsmoothed rtt
m
£ 2000 A
£
0 T T T T T 4_I
0 5 10 15 20 25 30
g Cubic cwnd (segments)
o 20 A
£
g 10 A
'8 T T T T T T
i 0 5 10 15 20 25 30
%))
g Prague throughput at receiver
=3
5
2 10 -
=y
g 0 T T T T T T
£ 0 5 10 15 20 25 30
|_
Prague unsmoothed rtt
— 300 A
%))
£ 200 -
£ 100
T T T T T T
0 5 10 15 20 25 30
) Prague cwnd (segments)
C
o 50
£ /
(o)}
(]
v W
'8 0 T T T T T T
3 0 5 10 15 20 25 30
u Bytes in Wi-Fi device AC_BE queue
1 50000 -
Q
<
£
n
3 0 -
>
o0 5 10 15 20 25 30
(o] . .
T Bytes in overlying DualPI2 AC_BE queue
S 500000 A
a
£
n s d M A
.8 O __|—|— T T T T A T
& 5 10 15 20 25 30

Time (s)




